Revision Answers

Chapter 6 Employee Benefits
Answer 1 – Savage
(a)

	
	Obligation
	Assets
	Net (SOFP)
	Net (SOCI)

	
	$m
	$m
	$m
	$m

	Bal. b/f
	3,000
	2,900
	100
	

	Net interest at 6%
[(3,000 + 125) × 6%] / (2,900 × 6%)
	188
	174
	
	14

	Current service cost
	40
	
	
	40

	Past service cost
	125
	
	
	125

	Benefits paid
	(42)
	(42)
	
	

	Contribution paid in
	
	45
	
	

	
	3,311
	3,077
	
	

	Remeasurement loss/gain
	64
	85
	
	21

	Bal. c/f
	3,375
	3,162
	213
	

	
	
	
	
	


Statement of financial position

	
	2005
	2004

	
	$m
	$m

	Net defined benefit liability
	213
	100


Statement of comprehensive income
	
	2005

	Profit or loss
	$m

	Current service cost
	40

	Past service cost
	125

	Net interest
	14

	
	

	Other comprehensive income
	

	Remeasurement gain on defined pension plan
	21


· The company will recognize $125 million past service costs immediately as the benefits vest on 1 November 2004.

· The interest cost should be based on the discount rate and the present value of the scheme liabilities at the beginning of the year but should reflect changes in scheme liabilities during the period. Hence the past service costs have been included in scheme liabilities for this purpose.

· The contributions that have not been paid will not count as an asset of the fund at the reporting date. The fair value of the plan assets is therefore $3,162m (3,170 – 8), i.e. net of contributions not paid.

· Revised IAS 19 now requires that actuarial gains and losses (i.e. remeasurement gains and losses) are recognized in other comprehensive income for the year.

(b)

· The contributions payable by Savage to the trustees will not count as an asset for the purposes of the valuation of the fund. IAS 19 states that plan assets should not include unpaid contributions due from the reporting entity to the fund.

· The introduction of changes to a defined benefit plan, such as enhanced future benefits payable in respect of past service provided by employees is normally referred to as past service costs. The company will therefore recognize $125m at 1 November 2004. A company should recognize past service costs in full at the earliest of three dates:

· When the related restructuring costs are recognized, or

· When the related termination benefits are recognized, or

· When the curtailment occurs.

Following revision of IAS 19, it is no longer necessary to spread past service costs over any vesting period which employees are still required to work to earn the enhanced benefits.

ACCA Marking Scheme

	(a)
	Statement of financial position
	3

	
	Changes in present value/assets
	12

	
	Profit or loss
	5

	
	Other comprehensive income
	3

	
	Movement in net liability
	3

	
	Available
	26

	
	Maximum
	21

	(b)
	Explanation
	

	
	Past service costs
	2

	
	Contributions
	2

	
	Available
	30

	
	Maximum
	25


Answer 2– Smith
(a)(i)
Problems with the previous version of IAS 19
An entity’s defined benefit pension scheme can be a significant net asset or liability. The size of some schemes, together with the complexity of the accounting, meant that IAS 19 Employee Benefits came in for criticism.

· One area that was particularly problematic was the treatment of actuarial gains and losses. The old IAS 19 treatment did not provide clear, full and understandable information to users. Specifically, IAS 19 gave a number of options for recognition of actuarial gains and losses:

· Immediate recognition through profit or loss,

· Immediate recognition through other comprehensive income, and

· Delaying recognition using the so-called ‘corridor method’.

· This element of choice meant that the figures in the statement of financial position (and profit or loss for the year) were misleading.

The main problems with the deferred recognition model were:

1.
It was inconsistent the treatment of other assets and liabilities.

2.
It meant that the employer was not matching the cost of providing post-employment benefits to the periods in which those changes take place.

3.
The accounting was complex and required complex records to kept.

4.
The statement of financial position figure could be misleading, for example, the plan might be in surplus and a liability shown in the financial statements or the plan might be in deficit with an asset shown.

(a)(ii)

Immediate recognition has the following advantages:

1.
By eliminating the options it improves consistency and comparability between accounting periods between different entities.

2.
It gives a more faithful representation of the entity’s financial position. A surplus in the pension plan will result in an asset being recognized and a deficit in a liability being recognized.

3.
The financial statements are easier to understand and more transparent than if deferred recognition is used.

4.
The income and expense recognized in profit or loss (or in other comprehensive income) correspond to changes in the fair value of the plan assets or the defined benefit obligation.

5.
It is consistent with IASB Conceptual Framework for Financial Reporting, which requires that ‘the effects of transactions and other events are recognized when they occur… and recorded … and reported in the financial statements of the period to which they relate.’
6.
It is consistent with IAS 8 Accounting Policies, Changes in Accounting Estimates and Errors – changes in estimates must be included in the period in which the assets and liabilities change as a result and IAS 37 Provisions, Contingent Liabilities and Contingent Assets – changes in long term liabilities must be recognized in the period in which they occur.

(a)(iii)

Other changes in IAS 19

1.
Remeasurements. The revised standard introduced the term ‘remeasurements’. This is made up of the actuarial gains and losses on the defined benefit obligation, the difference between actual investment returns and the return implied by the net interest cost and the effect of the asset ceiling. Remeasurements are recognized immediately in other comprehensive income and not reclassified to profit or loss. This reduces diversity of presentation that was possible under previous version of the standard.

2.
Net interest cost. The revised standard requires interest to be calculated on both the plan assets and plan obligation at the same rate and the net interest to be recognized in the profit or loss. The rationale for this is the view that the net defined benefit liability/(asset) is equivalent to an amount owed by the company to the plan (or vice versa). The difference under the previous version of the standard was that an ‘expected return on assets’ was calculated, based on assumptions about the long term rates of return on the particular classes of asset held within the plan.

3.
Past service costs. The revised standard requires all past service costs to be recognized in the period of plan amendment. The previous standard made a distinction between past service costs that were vested (all past service costs relating to former employees and those relating to current employees that were not subject to any condition relating to further service) and those that were not vested (relating to current employees and where the entitlement was subject to further service). Only vested past service costs were recognized in profit or loss, and unvested benefits were deferred, and spread over remaining service lives.

(a)(iv)

Likely consequences of the revision to IAS 19
1.
Increased comparability but increased volatility. The new rules on recognition of gains and losses will increase comparability and bring transparency to the statement of financial position. However, companies that have the corridor approach may find that the new rules bring increased volatility to the statement of profit or loss and other comprehensive income.

2.
Pension funds invested differently. The removal of the corridor method may result in changes in the way in which pension fund assets are invested. Pension companies have been able to take risks by investing in equities in the knowledge that gains and losses could be smoothed over the working lives of employees if the reporting entity chose to do so. Now that this option is no longer available, they may choose to invest in bonds, which are more stable.

3.
Expenses will be more visible. Under the previous version of the standard, the cost of running post-employment plans was accounted for either as a reduction to the expected return on plan assets or reserved for as an addition to the present value of the liabilities. Under the revised IAS 19, expenses will be split into those relating to the management of plan assets (charged to other comprehensive income) and those relating to the administration of the scheme (charged to profit or loss).

4.
More extensive disclosures will be required particularly relating to risk.

5.
Change to the type of assets invested in because of the requirement to use the discount rate as for liabilities. The replacement of the expected return on plan assets with an interest credit based on the discount rate will affect all companies, as the nature of the assets held in the scheme’s investment portfolio will no longer influence the credit to the profit and loss account. This may lead to a reduction in investment risk as companies move to asset classes which tend to provide more stable returns and provide a better correlation with the scheme’s liabilities, albeit at a higher expected long-term cost.

(b)

	
	Obligation
	Assets
	Net (SOFP)
	Net (SOCI)

	
	$000
	$000
	$000
	$000

	2012 b/f
	2,900
	2,600
	300
	

	Net interest at 8%
	232
	208
	
	24

	Current service cost
	450
	-
	
	450

	Past service cost
	90
	
	
	90

	Benefits paid
	(240)
	(240)
	
	

	Contribution paid in
	
	730
	
	

	
	3,432
	3,298
	
	

	Remeasurement losses/(gain)
	68
	(102)
	
	(34)

	2012 c/f
	3,500
	3,400
	100
	


Answer 3
To:
The Directors


Macaljoy

Date:
1 November 2007

Subject:
Pension plans and warranty claims

The purpose of this report is to explain the difference between defined benefit and defined contribution pension plans, and to show the accounting treatment of Macaljoy’s pension schemes. It also discusses the principles of accounting for warranty claims and shows the accounting treatment of Macaljoy’s warranty claims.

(a)(i)

Defined contribution plans and defined benefit plans

· With defined contribution plans, the employer pay regular contributions into the plan of a given amount each year.

· The contributions are invested, and the size of the post-employment benefits paid to former employees depends on how well or how badly the plan’s investments perform.

· If the investments perform well, the plan will be able to afford higher benefits than if the investments performed less well.
· The B scheme is a defined contribution plan. The employer’s liability is limited to the contributions paid.

· With defined benefit plans, the size of the post-employment benefits is determined in advance, i.e. the benefits are ‘defined’. The employer pay contributions into the plan, and the contributions are invested. The size of the contributions is set at an amount that is expected to earn enough investment returns to meet the obligation to pay the post-employment benefits. If, however, it becomes apparent that the assets in the fund are insufficient, the employer will be required to make additional contributions into the plan to make up the expected shortfall. On the other hand, if the fund’s assets appear to be larger than they need to be, and in excess of what is required to pay the post-employment benefits, the employer may be allowed to take a ‘contribution holiday’ (i.e. stop paying in contributions for a while).
· The main difference between the two types of plans lies in who bears the risk: if the employer bears the risk, even in a small way by guaranteeing or specifying the return, the plan is a defined benefit plan. A defined contribution scheme must give a benefit formula based solely on the amount of the contributions.
· A defined benefit scheme may be created even if there is no legal obligation, if an employer has a practice of guaranteeing the benefits payable.

· The A scheme is a defined benefit scheme. Macaljoy, the employer, guarantees a pension based on the service lives of the employees in the scheme. The company’s liability is not limited to the amount of the contributions. This means that the employer bears the investment risk: if the return on the investment is not sufficient to meet the liabilities, the company will need to make good the difference.

(a)(ii)

Accounting treatment: B scheme

No assets or liabilities will be recognized for this defined contribution scheme. The contributions paid by the company of $10m will be charged to profit or loss. The contributions paid by the employees will be part of the wages and salaries cost.

Accounting treatment: A scheme

The accounting treatment is as follows:

Statement of profit or loss and other comprehensive income notes

Expense recognized in profit or loss for the year ended 31 October 2007

	
	$m

	Current service cost
	20.0

	Net interest on the net defined benefit liability (10 – 9.5)
	0.5

	Net expense
	20.5


Other comprehensive income: remeasurement of defined benefit plans (for the year ended 31 October 2007)
	
	$m

	Actuarial loss on defined benefit obligation
	(29.0)

	Return on plan assets (excluding amounts in net interest)
	27.5

	Net actuarial loss
	(1.5)


	
	Obligation
	Assets
	Net (SOFP)
	Net (SOCI)

	
	$m
	$m
	$m
	$m

	2006 b/f
	200
	190
	10
	

	Net interest at 5%
	10
	9.5
	
	0.5

	Current service cost
	20
	
	
	20

	
	
	
	
	

	Benefits paid
	(19)
	(19)
	
	

	Contribution paid in
	
	17
	
	

	
	211
	197.5
	
	

	Remeasurement losses/(gain)
	29
	(27.5)
	
	1.5

	2007 c/f
	240
	225
	15
	

	
	
	
	
	


(b)

Warranty provisions

(i)
Principles

Under IAS 37, provision must be recognized in the following circumstances.

1.
There is a legal or constructive obligation to transfer benefits as a result of past events.

2.
It is probably that an outflow of economic resources will be required to settle the obligation.

3.
A reasonable estimate of the amount required to settle the obligation can be made.

· If the company can avoid expenditure by its future action, no provision should be recognized. A legal or constructive obligation is one created by an obligating event. Constructive obligations arise when an entity is committed to certain expenditures because of a pattern of behavior which the public would expect to continue.

· IAS 37 states that the amount recognized should be the best estimate of the expenditure required to settle the obligation at the end of the reporting period.
· The estimate should take the various possible outcomes into account and should be the amount that an entity would rationally pay to settle the obligation at the reporting date or to transfer it to a third party.

· In the case of warranties, the provision will be made at a probability weighted expected value, taking into account the risks and uncertainties surrounding the underlying events.

· The amount of the provision should be discounted to present value if the time value of money is material using a risk adjusted rate. If some or all of the expenditure is expected to be reimbursed by a third party, the reimbursement should be recognized as a separate asset, but only if it is virtually certain that the reimbursement will be received.

(ii)
Accounting treatment

In Macaljoy’s case, the past event giving rise to the obligation is the sale of the product with a warranty. A provision for the warranty will be made as follows:

	
	$

	Year 1 warranty
	280,000

	Year 2 warranty
	350,000

	
	630,000


If material, the provisions may be discounted:

	
	$

	Year 1 warranty
	269,000

	Year 2 warranty
	323,000

	
	592,000


W1

	
	EV

	Year 1 warranty
	$000

	80% × nil
	0

	15% × 7,000 × $100
	105

	5% × 7,000 × $500
	175

	
	280

	Discount at 4%
	0.9615

	
	269


	Year 2 warranty
	$000

	70% × nil
	0

	20% × 5,000 × $100
	100

	10% × 5,000 × $500
	250

	
	350

	Discount at 4%
	0.9246

	
	323


Macaljoy may be able to recognize the asset and income from the insurance claim, but only if the insurance company has validated the claim and receipt is virtually certain. In general contingent assets are not recognized, but disclosed if an inflow of economic benefits is probable.

Answer 4

Defined benefit plan

· The Plan is not a defined contribution plan because Cate has a legal or constructive obligation to pay further contributions if the fund does not have sufficient assets to pay all employee benefits relating to employee service in the current and prior periods.

· All other post-employment benefit plans that do not qualify as a defined contribution plan are, by definition therefore defined benefit plans. Defined benefit plans may be unfunded, or they may be wholly or partly funded.
· Also IAS 19 indicates that Cate’s plan is a defined benefit plan as IAS 19 provides examples where an entity’s obligation is not limited to the amount that it agrees to contribute to the fund.
· These examples include:
· a plan benefit formula that is not linked solely to the amount of contributions (which is the case in this instance); and
· those informal practices that give rise to a constructive obligation.
· According to the terms of the Plan, if Cate opts to terminate, Cate is responsible for discharging the liability created by the plan. IAS 19 says that an entity should account not only for its legal obligation under the formal terms of a defined benefit plan, but also for any constructive obligation that arises from the enterprise’s informal practices.
· Informal practices give rise to a constructive obligation where the enterprise has no realistic alternative but to pay employee benefits.
· Even if the Plan were not considered to be a defined benefit plan under IAS 19, Cate would have a constructive obligation to provide the benefit, having a history of paying benefits. The practice has created a valid expectation on the part of employees that the amounts will be paid in the future.
· Therefore Cate should account for the Plan as a defined benefit plan in accordance with IAS 19. Cate has to recognise, at a minimum, its net present liability for the benefits to be paid under the Plan.
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